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Intro

Today we will n”va learn 7" 97 of min2’ noomn.
The topics we will learn about include

MW PN

MW NP RO

Ifa person divorced his wife and she remarried, if her 2nd
husband dies or divorces her, her first husband is not
allowed to remarry her. A person may also not marry the
relative of his divorced wife

MR5N XYY

MM NP IR

A person is not allowed to marry the woman with whom
he did nx°5m, or her relatives

Regarding when a child is a 7o there’s a nponn:
M0 M W

PIRD 727M0 WD PR

100 YW *17 and the 0501 hold that a forbidden union
which carries a penalty of 073 - and certainly of a2 nnon»
17 - renders its offspring o1, who are

572 R15 MOR - May not marry into the Congregation of
Klal Yisroel.

However, a forbidden union which carries the less severe
penalty of mphn does not render its offspring own, and
they may marry into Klal Yisroel.

Rebbe Akiva holds

PIND 22°m NP W

Rebbe Yehoshua holds

P72 DI 227M0 ROR 1D PR

A 517270 is not allowed to marry an bR and if he does
noHRND RY RN

DVO I

She herself becomes a 155m, and may not marry a regular
172 in the event that the Kohen Gadol dies.

And, her child is a n55n as well.
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Regarding when a child is a 7ton...
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is not allowed
to marry an NN

7Y he does
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So let's review

IR 7T OPRT

DWIVIIN PRIV PIR TYIIN

There were 6 brothers;

TWR 5N, AT I, IVNY,JIRT

Four of them,

AT M2, DYDY IR

were married to 4 unrelated women

RS ,5M7,7P27,7w

o

And 77w 15 pwnw jaRT passed away

172 MW 219 IR 0275 012w D10 A% DR

Their oldest surviving brother is allowed to be b1» all 4
wives. Each one requires Yibum or Chalitzah, because
they are coming from different husbands.

The xmx asks

7w

Do we allow him to do so?

ANNRS TIROM RS MR THP PR 17271 17D 239319 IR RN
We learn from v5x 19271 that they advise the 02’ on what to
do

MIPY R T NN P DR

A7 R PRI

We tell him

779 53R 75

IPT OR O

So too, in our case 17 2 would advise him not to marry 4
wives, because the cost to support them is very great?

DafHachaim.org

.3’)/€/‘/

W23 PN PR AN RPN
igla)
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RS M P 1w

AmaY SYTam mee oN
193 NN Do
Y3 A

e

2179 72w

NN

They advise: T DN
IR R T N
M2 N P N

We tell him: 179 ¥ 79 11
7Pt 938 70

7 rint = NP
PN TS
AN i
SN T NS

So too, in our case
)T M2 would advise not to marry 4 wives,
because the cost to support them
is very great?
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. The R answers

75 TWORT

This is a case where the D2’ is able to support all 4 wives
The 73 explains that the miwn gives an example of 4 n’b TJOORT

m»2, and not more, because In this case
WIN2 7Y 70NIT N D ]‘7 YRWN RP 7210 %Y

thena is able to support all 4 wives

The £y explaing...

The Nwn gives an example of 4 MmN,
and not more

17 YPWN RP NV NRY
WTN2 NNY NMVNIT N 2D

The mwn continues

DWINWH WI I M) aé/\/
. In a case where p»Ww 12187 were brothers, ;1187 was
married to 2 unrelated women 8> 57 qﬁw: ﬁqﬁw qn
1
ynY 1
fala)
And 12187 passed away n wJ nw

ANIX NIV [0 NAR SV ANROM IR AR nn\
By pwinw being 017» or doing nx*>n with either wife the
other wife is released, and actually py»w is only allowed
to do D2 or n¥*>n with one wife.

7,

RY oYM

MAROM N AN
~Yala
=AY NDD

A
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The Rm) asks 4 questions.

1,705 027N

Let pynw be 027n both ik S92
The X answers that the p1oo says
PAR 772 DR 732 RS TOR

N2 R TR 2

DN2IW N2 PR

He may only do o2’ with one wife.

23705 ponn

Let pynw do nx°'5n with both xS Snv?
The xmx answers that the 7109 says
Sy pbnma

YOI NI TR 2

[aUeRRACR P RUN]

He may only do n%’>n with one wife.

3, K7D YIOA RTAS D270

Let pynw do o2 with one of them, and nx°'5n with the
other?

The X answers that the p1oo says

PI9m’ RS DR

D27 YON N7

oIS IR 5

7%°5n5 7w

D125 W PRY 5

a%5m> 75w PR

Only when he has the option of Yibum and chooses not to
do Yibum, does he do Chalitzah. However, in our case,
since he may not do Yibum with the second one, he may
not do Chalitzah either.

4. DI TIZND D7PNN RTMRIR 7 RN

D12 MZPD DPPNN RS 1N RYR D
Let us say that when there is 1 7n2° and 1 2 to be built,
then there’s a mx» of x5 012, but when there are 2 or
more M»2, there is no Mitzvah of Yibum at all?
The X2 answers that the 7109 says
IV NN AN NN DR DAPY WRA 7O R DR
The word yn»2’ is mentioned twice to teach us that ;2
1%'5m apply even when there are multiple nn

Dedicated By:
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The £y asky 4 questions:
3 2 1
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e RAIL)
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YR I TR e P N T
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70 teach uy
nNOM DY apply
even when there are multiple mn2>
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The mwn concludes

72109 NNRY 77w DNR A7

If5n7 was already nnnob %100 and AR5 was not niab 5109
197095 Y91 Yo o oR

If pynw wants to do nx’>m, which would render her %100
7nnoY, he should do mx*>m with 5m, who is already 5100
nnod.

77WwoY 0271 027N 7 ONY

And if he wants to do D12, he may do so even with x>

The Gemara explains;

907 23 IR

I MW RO

1M2°N DTIR POV )

D> I8 "IN

From this 17 taught a general lesson:

A person should not pour out the water of his pit when
others need it. In other words, although one has no need
for something, he should not ruin it if others can use it.

The X proceeds with the next mwn

Dedicated By:
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The NdWH concludes
)
ms Ans e 2P
m5100 ANNY

Y

Z%//}Wé wanty ty do 22/, N 2!;191

which would render her g/a:/ Yoo, oY
he shoidd dy 22/ with >, who w/a/re@/?/ 9/5)9/ Yoo

moosh PO - PO N
mwah D - v R N

And % he wanty tv dy pr> he may even with 3¢/

%9 DYl pl> Qa/' 22
1M2D DTR POW’ XY
ono 02" DINNY

In other wordy,
Although one has no need for something,
he should not ruin it if others can use it
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The mwn

starts off with 3 cases where a person married a woman
forbidden to him:

73N T OPNY

DWW PIINA

The case is:

12187 was married to 517, divorced her, and she then
married py»w. Later on, nwpw either passed away or
divorced 57 and j2187 remarried her.

OR,

MM RV

If 12187 did 7%°51 with b7 and then married her,

OR,

nxbn DIP RV

If 1218 did 7%°5m with xS and then married her sister 57
NP TN NI

RIPY 227727

In all the above cases, j2187 must divorce 57, and the child
is a Mamzer, because, as the Gemara will explain, they are
all 85271, and Rebbe Akiva holds;

]’12‘(77 AN NHN W

WO TNA PR RO

In these cases, the child is not a Mamzer, because the
Chachamim hold;

PIRD 72711 ML PR

However,

MW NP RWI DTN

WP TN

The omon agree that if 12187 divorced xS and married her
sister 5 that the child is a 7w, because w1 NP is
5270, and

MmN M W

The X explains:
W M is clearly a 1RY, as the Posuk says;
Annpb w5 AN TUR PRI Y SOY RO...

5N RwI is also a kY, as the Posuk says;

M2 RS WK

732 R5w

M R> W

Once he did not take her in Yibum, he cannot take her in
marriage.

Dedicated By:
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The: fopye explaing:
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However, nz15n nap Rwi is actually a Machlokes;

»17 in the Mishnah on 8» 97 holds that it is merely mor
1127710, However, X2y °27 in our Mishnah holds that it IS
aIX> derived from the Posuk;

Sy RN

PRI N7

The nmn calls the Chalutzah 13, which means his wife,
and therefore if a person marries the relative of his 13150
he transgressed a 15, according to Rebbe Akiva.

As part of this discussion regarding when a child is a 37,
and

5pa a5 MoR

Forbidden to marry into the Congregation of Klal Yisroel,
The Gemara cites the Mishnah later on v» q7, in which
there are three opinions:

R2pY 27 holds;

]’11‘(‘7 AN NOHN W

100 w127 and the oon hold;
PIRD 2710 W0 PR

But,

M0 °2°mn NOH W

ywi 27 holds;

TIP3 2271 N PR

Because

T TP NIPP 22710 ROR W0 PR

DafHachaim.org
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! 112970
L prory
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Regarding when a child is a 7tON...

pial alaRi)dfal gy 29
Q'aon NaWY

M PN
MRS 2V

M v
NG A
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Related to this Machlokes;

*17 92 PYPW 727 IR GO 127 IR

miailoloRlyi

MW PINNI

nnak onoe THNw

As Rashi explains;

nan7> OR

155m0 nnnb o9

When a person remarries his divorced wife, the daughter
born from this marriage may not marry a 72

The Gemara at first understands o7 5o as referring to
I YNV 227

N RY WONT M

N7 RTH OO

Even though the child is not a 7m» because prHW 27
0 holds PIRD 27m Jion PR, and 1nwiTs Tinn is only an
XD NOR;

Nevertheless, the child is a oo and may not marry a j7.
Why not?

We would derive it from %172 1725 135K via a 9mm 5p:

5172 1795 IOR

552 MW MR PR

oo NIl

If an %173 3735 SR, which does NOT apply to all - only to
the Kohen Gadol - the child is oo

551 MW TIORY

DO MV PTIPR

w1 1inn which DOES apply to all - the child should
certainly be 01o?

However, the Xm) rejects this

MINHRY

5NN RY X7 1OV

This marriage also disqualifies the n5R from marrying
any j79 - in the event the Kohen Gadol dies - therefore, it
makes the child a ono.

But in the case of iInw173 tn, she is not NS5 AK3Y X7
This marriage does not disqualify her from anything - as
Rashi points out; she was already 7nn>5 9109 from the first
w1 - therefore, perhaps the child is not onio?

NY5NNN NNXY RN

DafHachaim.org

pmin B e mmw 21 AN qm* 239 N
YN AN oY Do
M35 21D O

The Yemara at first understandy
L5 ay referring ...
Siiiasiadd it pialalaliivialzg=)

Q10N
M)

AT M 1N
NI RY IMNG 3V

012D M 2
RNM PN YanAn
NN
b
T

2,
992 MY NNORY 1T ! NT2109Y NINHOR N
MID NIW PTIVR

992 MY MO PRY
oo N2

L2k 259p gﬂéﬁ)f/
ISNOT NNXY RN PV
n55nnmn

This marriage

This marriage
does not disqualify her  disqualifies the NINHR

from anything from marrying any 10>

if the Kohen Gadol dies
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Therefore, the X2 says, we must change the teaching of
qov 17 to say;

DT 5o

mI>°270 5 R13

ono TN

And o Son refers to yui 137 -

N7 RY NODT M

"7 RO ONO

Even though the child is not a 711 because ywir °29
holds;

7 2 NIPR 72710 ROR Mo PR, that a child from an MoR
N0 is not a N - Nevertheless, the child is a ono and
may not marry a jno.

We would derive it from 5172 1735 135K via a 9 5p as
before.

And, as the Gemara points out - Now, we cannot reject the
M Sp with

TINHRY

n55mnm A3 X7 1OV

Because,

M3 RO

I ARWY 7OYIW 173

A forbidden union of mn»>°27n renders her a a7, and
nnnob Moo, Therefore, Do 133, as in the case of 17195 mamHR
DT

The Gemara earlier pointed out that a 7111 only becomes
1795 9109, but not Snpb H1o9 -

515 1H0OR RIITT DIWN?

Rashi also points out that in a case of \nwia 11, if she’s
a 175 N3, she does not become NS 5109, because, as the
Gemara later on vO 97 says;

That for the disqualification of

om0 nhya

JPYIRIPYD TOIR N

It is only from a forbidden union of a man who was Assur
to her before her first marriage to him.

This discussion continues on the next Daf

DafHachaim.org

We must an/' 22 1o say;
a1y 5o
MINMS 37 Y NaS
2%3D e

And r%ery fo... -
7n] e

ITINT
NN XY
01od

RNM NON T PN

o M alhimhil
"N pi=Falak~R=Nigia

plit~lAREH]
fa)iakni=Ri=igta)

7)

')/\///)/

592 MY NMORY 1T
DNID N12W PTIPR

2721099 NINHR M
992 MY NMOR PRY
o N2

We canndt reject the spymy /E with. . .
e o
NPXY R PO
n55nnn
This marriage
disqualifies the NINYR
from marrying any 10>
if the Kohen Gadol dies

Becawse,
NYY2W 10 7101 RN
NNT NRWY
A forbidden union of
MmN’ 27N
renders her a N1,
and NN35 7Nod
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